&2 Aeold] 6 514
Hek oWzt 369 uf Bhio 2] ghol [ ol &,
[ ool Sof2

v
o
|oH.

o|N 7}t AAISHE FE 1 20%
AA g5 [ 2t shd

[ ]x02=36

[ ]=36+02

[ ]=180(73)

HHA + HNTE AR S B2 25%
R+ Z K Q] AR 4= 1180 % 0.25 = 45( )




B4 8L Sy o

SHg 5ol Folbote Y-S XAFSte] LEhd w12 me)
Ytk o] Wi Lo] A Ao]7} 50cm 2, #-& Fotshe shyo]
2425k Aole 2 em 1A FSHA L.

Zofol=
= | a4 EZ=
(40%) (25%) (20%) (10% A
T
71 eH(5%)
» E: cm

[> HEr 20cm

& Folot= 9] HlE&2

A sHAY 2] 40 % olt.

=, Z0]7} 50cm 91 w1 Zoj| A
40

o] 225t Zol 50 x = 20(cm) ©]t}.




the2 A 200090l UtE e AD FolA 7HE A1
A

B Al A 7 9171 A" A= 7994 FoA L.

SEERRE EL R
A5 HpakE] 9F(43 %) AU T




ohe e me A 9T A u)7h5 4 o, 51914
a1 B39 @ %7} Hen] FotAle,

a4

rlo

st 210
55}
(35%)
> E %

> ®HE: 25%

~&B

911 AT} F A7} AR ot v L

100 — (35 + 20) = 45( %)

911 do] ZAshe vl (%)< [ |2t sha
5

=45X —

=45 X
445 9




Fof Lpetdl

B LS EEN
o] 63 Woletw, M4y

514
L o
1A

Ay %9t o
ol
Q17

S}
of

A
U

=1 &0
m:__#
nlicodion
e

B o R

St
ol

sy | gty

(52%)

(48%)

|

(el

i
Ife)

B

e[ Jgelat

=0

Al

A

3

)

B

360 100

63 X




